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KEHBRBER (BXIEKE H2KH#F (EK )
B | Xz |KE|KE|BA E|pH|7VAy| BE | %% R & EOZE

= BREM| A A > H

C C E mg/l | mg/l | mg/l | mg/l | mg/l | mg/l
1 & 2.0 1.9 4.5 (7.83
2[ R 12.5 9.2 7.9 |7.65

3| B 0.0 8.9 54.8 |7.73 | 52.0 | 70.0 190 9.5 2.25| 0.06
4 B 0.0 8.0 20.0 |7.73
5| B 0.0 7.1 14.4 |7.75
6| & 3.0 7.9 9.6 |7.74
1| HBE 3.0 9.1 9.8 |7.75
8| B 1.5 9.1 6.117.73
9| HE 2.5 8.3 5.7 117.76
10| B -1.0 1.5 5.9 17.70
11 & 2.0 1.8 6.2 |7.82
12| 2 4.5 9.0 5.6 | 7.84
13| HE 1.5 9.0 1.3 11.72
14 2 10.5 1 10.2 7.1 17.74
15 ™ 11.0 |1 12. 4 10.9 | 7.77
16| B 9.0 9.5 172 | 7. 61
17 B 7.0 9.0 25.6 |71.74

18| W& -2.0 1.4 11.0 |7. 11 54.0 | 70.0 147 10.4 ] 0.94 | 0.02
19| W& 2.0 1.7 17.7 17.76
20( & 0.0 8.2 5.9 |7.75
21 & 5.0 9.2 9.3 |7.71
22( BE 5.5 110.7 6.4 17.79
23| HE 16.0 | 11.9 5.5 117.72
24| = 6.5 11.2 5.3 17.78
25| BE 4.0 (10.0 6.4 17.70
26| = 6.0 9.7 6.3 |7.74
21| £ 3.0 9.2 5.6 | 7.74
28| = 0.0 9.0 9.717.76

Ty 4.5 9.1 16.5 |7.74 | 53.0 | 70.0 169 10.0 1.60 | 0.04

BE 16.0 | 12.4 | 172 (7.84| 540 70.0| 190 | 10.4| 2.25| 0.06

3 li -2.0 7.1 4.5 [7.61 52.0 | 70.0 147 9.5 0.94 | 0.02
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KERBRER (ETNEKSE FKt GRK) )
B | XE|SEBE|KE|B E|pH|7LhU| BE | %% (Eith| #% V| & OE
E HBEM| A4 > Ho
C i34 mg/l | mg/l | mg/1 | mg/l | mg/l | mg/l

1 i 2.0 1.2 1.1 ]7.54

2 [55] 12.5 8.8 1.4 17.47

3 i 0.0 9.1 1.0 | 7.46 46.0 72.0 130 12.4 | 0.04 | <0.02
4 i 0.0 8.1 0.9 17.38

5 i 0.0 1.7 1.1 17.38

6 i 3.0 1.4 0.9 17.40

7 i 3.0 8.2 1.4 17.39

8 i 1.5 8.7 0.6 |7.46

9 i 2.5 8.1 0.6 |7.60

10 i -1.0 1.5 0.8 |7.50

11 i 2.0 1.4 1.4 |7.54

12 = 4.5 8.3 1.4 17.47

13 i 1.5 8.8 1.2 |17.50

14 = 10.5 8.9 1.3 17.48

15 [55] 11.0 | 11.7 1.3 17.48

16 i 9.0 ] 10.7 2.4 17.38

17 i 7.0 9.3 1.1 17.39

18 i -2.0 8.1 1.0 17.50 48.0 [ 69.0 133 9.9 0.06 <0.02
19 i 2.0 7.6 1.2 |17.53

20 i 0.0 1.4 1.1 ]7.54

21 i 5.0 8.0 0.7 ]7.54

22 i 55 9.6 0.8 |7.51

23 i 16.0 | 11.7 0.7 |7.56

24 = 6.5 (10.8 0.6 | 7.56

25 i 4.0 9.9 1.0 |7.53

26 = 6.0 9.5 1.1 ]7.54

27 = 3.0 9.2 0.9 17.52

28 = 0.0 8.6 1.2 |7.57
FEiy 4.5 8.8 1.1 17.49 47.0 70.5 132 11.2 0.05 <0.02
>3 16.0 | 11.7 2.4 17.60 | 48.0 | 72.0 133 | 12.4 ] 0.06 | <0.02
1K -2.0 1.2 0.6 17.38 | 46.0 | 69.0 130 9.9 0.04 | <0.02




